VERUS

ENGINEEARING

Porsche 981 GT4 Front Splitter

Install Manual

Author: Eric Hazen
Release Date: 2019/05/28
Approvals: E. Hazen, P. Lucas

Document Revisions

Rev Date Author Description
01 2019/05/28 E.Hazen Initial release of install manual

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
sales@verus-engineering.com



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

CONTENTS

IO 11 4 e o (¥ Lot T T o TSRS <3>
L1 OVEIVIBW ..ottt ettt ettt e ettt e s ettt e e s bt e e e s sttt e e s easbteeseasbeeeesnbbeeesnbaeeesanbaeeesansaeaenan <3>
O 0 T 1T ] | TS TSPUPUPUPPPPIN <3>
O T T T 2 =T (U= o U <3>
1.4, TOOIS NEEUEM .........ooiiiiiiiee ettt ettt e s e s be e e s be e sbe e e sateessbaeesaseesateesnseeesnseesnns <3>
1.5, SPlitter COMPONENTS..........ooiiiiiiiiiiiee et e e s e e e s bbe e e e s sbee e s ssbeeessnnres <3-4>

2. Front Splitter Disass@mMby............ccuiiiiiiiiiiiiiiiie e e saae e s <4-8>

3. Splitter Bracket INStall ............c.oooiiiiiiiii e e e e <8-11>

4. Front SPlitter ASSEMDBIY .........coooiiiiiiiii e s e e e naae e s <11-13>

5. Front SPlitter INStall............ooo i e e e aa e e e aan <13-17>

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 2 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen

ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual
1. Introduction

1.1. Overview: Detailed instructions on installing the front splitter, air dam, and splitter diffusers
on the 981 GT4.

1.2. Difficulty: Moderate
1.3. Time Required: 2-4 hours

1.4. Tools Needed:
1.4.1. Jack and Jack Stands
1.4.2. Screwdriver
1.4.3. Flat head screwdriver
1.4.4. Assorted allen wrenches
1.4.5. Assorted Torx Sockets
1.4.6. Drill
1.4.7. Drill Bit (3/16” or slightly smaller)
1.4.8. 7mm Socket
1.4.9. 13mm Socket
1.4.10. Plastic Pry Tool
1.4.11. Side Cuts

1.5. Splitter Components

1.5.1. (1) Splitter Assembly
1.5.1.1. (1) Splitter Main Body
1.5.1.2. (1) Splitter Lip

1.5.2. (2) Splitter Diffusers

1.5.3. (1) Splitter Air Dam Assembly
1.5.3.1. (1) Splitter Front Air Dam
1.5.3.2. (2) Splitter Spill Plates

1.5.4. Bracket Assembly
1.5.4.1. (4) Spill Plate Brackets
1.5.4.2. (6) Splitter Brackets

1.5.5. Hardware Bag
1.5.5.1. (5) M6x1.0, 8mm Long Button Head Cap Screw (BHCS)
1.5.5.2. (5) M6 x 12mm OD Stainless Washer
1.5.5.3. (5) M8x1.25 Serrated Stainless Nut
1.5.5.4. (18) M4x0.7, 16mm Long BHCS
1.5.5.5. (18) M4x0.7 Nyloc Nut
1.5.5.6. (18) M4 Fender Washer
1.5.5.7. (28) M6x1.0, 20mm Long Button Head Cap Screw (BHCS)
1.5.5.8. (18) M6 x 18mm OD Stainless Washer
1.5.5.9. (10) M6 x 38mm OD Stainless Washer

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 3 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen

ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

2. Front Splitter Disassembly

2.1. Verus Engineering is not responsible for damage to you or your vehicle by following this
manual and/or installing Verus Engineering products.

2.2. We begin by jacking the car up. You'll want to choke the rear wheels and use the e-brake. A
lift is also acceptable.

2.3. Place a jack stand on either side of the car, you can use the frame rails or the pinch welds.
2.4. We need to remove the front air dam and spill plates from the vehicle.

2.5. Remove the air dam first by removing any bolts and plastic push rivets that hold the air dam
in place.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 4 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

2.6. This will allow you to remove the air dam from the vehicle. Pull at the sides first and then
pull forward. A second set of hands helps.

2.7. To remove the spill plates, we found using a plastic pry tool easiest near the yellow arrow in
the picture below. The unit we removed was double side taped on, so work slowly and
ensure you take care with any painted surfaces.

2.8. Remove the center plastic duct work shown below by removing torx bolts circled in yellow.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 5 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

2.9. Remove the OEM diffuser plastic pieces by removing the Torx bolts shown below. Inside the
fender, there are a few more bolts we need to remove as well.

2.10. Remove a few bolts in the fender as well and then these pieces will be free to be
removed from the vehicle.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 6 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

2.11. Looking from the front rearward, we need to trim a small piece off this plastic piece to
fit the diffusers.

2.12.  With a tape measure or calipers, we want to mark 10mm as shown below. Hint: 10mm
is slightly larger than 3/8”.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 7 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

2.13. Using side cuts, remove this small portion of plastic as shown below.

2.14. Below is what the modified piece of plastic looks like to clear the diffuser.

3. Front Splitter Bracket Install

3.1. Starting at the wheel well, remove the two bolts circled below.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 8 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

3.2. Using the OE hardware, install the brackets as shown below. The larger bracket goes on the
bottom; while the top is the smaller bracket.

[

3.3. Install outside bracket as shown below using the OE hardware to the car. *Note, there is a
left-hand and right-hand side of these brackets.*

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 9 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

3.4. Moving towards the inside of the fender, install the inner bracket as show below utilizing OE
hardware. *Note, there is a left-hand and right-hand side of these brackets.*

3.5. The final bracket to be installed is the main front splitter bracket.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 10 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen

ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

3.6. Center the bracket on the slots vertically and use the suppled M8 serrated nuts to tighten
the bracket. Note, there is a left hand and right hand bracket.

4. Front Splitter Assembly

4.1. The front splitter needs assembly as the diffusers need to be bolted to the front splitter
before the splitter can be installed.

4.2. For this step, it helps to have a piece of wood underneath the splitter so that as we drill
through the carbon diffuser, we have something soft to go into. It is capable to do this step
without wood though.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 11 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
REVISION: RO1 Date: 2019/05/28

ENGINEEAING - '
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

4.3. With the splitter, top side up, we can “install” the diffuser into the channel that the diffuser
sits into. The diffuser should sit nicely into the channel.

bit.

4.5. Utilizing the M4x0.7 BHCS, a washer and nyloc nut, install the carbon diffuser onto the
splitter. We recommend starting on the front middle of the diffuser and working your way
rearward on both sides of the diffuser. Snug is great as the nuts are nylocs and will not back

off.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 12 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

4.6. The front splitter is now assembled and ready to be installed on the GT4. We will now move
onto step 5 which is final splitter assembly on car.

ERS T Gt &8

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 13 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen

ENGINEERING REVISION: RO1 Date: 2019/05/28

Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

5. Front Splitter Install

5.1. We will start by installing the front air dam. This is a good (2) person job. We found starting
on one side and laying it across the front to the other side the best.

5.2. To install the spill plates, simply push the tabs into the bumper slots. Then using the
M6x1.0, 8mm long BHCS to screw the spill plate to the bracket. We personally do not use

washers here to keep the bolt head as low as possible. A dab of thread lock ensures they do
not back off.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering
sales@verus-engineering.com

14 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

5.3. Using the M6x1.0 x 20mm Long BHCS, 38mm OD and 18mm OD washers, we can install the
splitter to the various brackets we installed in step 3.

N &
SR
\\

5.4. The diffusers bolt to the OE locations in the fenders using OE bolts as shown below.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 15 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual

5.5. With the diffuser fully bolted to the fender liner; the diffuser should look like below. At this
point the splitter is fully installed onto the car and we can move onto installing the front
most lip.

5.6. To install the front lip, use the M6x1.0 x 20mm BHCS, and 18mm OD washers to install the
lip to the splitter.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 16 3/6/2016



VERUS ENGINEERING | NORTH AMERICA Author: Eric Hazen
ENGINEERING REVISION: RO1 Date: 2019/05/28
Recipients: Public

Porsche 981 GT4 Front Splitter Kit — Install Manual
5.7. Keep in mind, the lip can be installed and uninstalled whenever necessary. Without the lip,
you will reduce front end downforce and gain ground clearance. With the lip installed, you

boost front downforce.

5.8. If you are leaving the lip off; install the BHCS and washers in the splitter anyway just
without the lip extension.

5.9. Congratulations on installing the Verus Engineering Porsche GT4 carbon front splitter kit.

5.10. Please contact Verus Engineering with any questions, comments, concerns, and
feedback via sales@verus-engineering.com.

Confidential: Property of Verus Engineering. Not for Distribution outside intended recipient list.

Verus Engineering

sales@verus-engineering.com 17 3/6/2016



